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By (2.27) we have in a similar fashion, tr’ =t, .,andt_, ~t

By Remark 5, we have on a C' -boundary

tr‘f :t":t:t//,t/_ :tn =t :t!!" (317)
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Pn a (’?X—boundary L=t s~ tg Tt r/ . Let C be a smooth portion of

a Ci-boundary having proper slope. We parameterize C in the (r,s) plane

by (h(J),k({ )) and c¢' in the (r',s") plane by (h(f),l:(f )). Then

tr£ =h trr+k trs .

=h't

tsf ' sr+ktss’

By (2.24) and the factthatt =t ,t =0 on C.
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Thus,onC t.,, =h t andt, =k't

- , = =t

Similarlyon ¢’ t .. =h't andt 5 = K teg:

Since onC tr:t S:tS/ :tr/" we have trj" _ts"; :ts"“i :t/r‘j

/
Select J sothat h (J) > O, then on the O%-boundary C and C*, since

C has proper slope,

son(to. ) = sgn(t.) = sont. ) = son(t, ) = sgnt .. /) = sont . )

for C with positive slope,
: (3.18)
Sgn(}--s ) = sgn(ty) = sgn(-tsg) = sgnft™¢J = sgn(-tg o) = sgnft” )

for C with negative slope.

By (1.101) the condition '(f—-— O or fft = 0 is necessary in order for a
curve to be an internal boundary. We now investigate the extent to which

this is sufficient. © A curve is an internal boundary if it separates 'plastic




